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1. ROBEEZERITE X

(1) y = sin(—x) (2) y = cos 2z (3) y =tanx
y = y = y =

4)y= smg (5) y = cos (—%) (6) y = tandx
y = y = y =

2.0<0< g T, sinf =08 DL = WOMEERD L.
(1) cos® =

(2) tan =

3. WOBR%O 77 70iEE, —2r < x < 2m OFPH THIT.

(1) y = cos <x—g>

(2) y = sin (x— g)




4. WOIEA KD L.

(1) logyp 10 =
(2) log,,0.01 =
(3) logy 4 =
(4) log,, 10000 =
(5) logs 1 =
5. WOBKEZMIE L. 728, logr 132 Z TIXARMEEET LD LT85 (HFEL
[FlER).
(Dy=e—* (2) y =logz (3) y=¢e*
y/ _ y/ _ y/ _
z I —2z
(4) y=e2 G)y=-"% (6)y=e"53
y/ _ y/ _ y/ _
TR K4




